o33se JLAME. PRAREE G

® EVERGUSH«

PR g R

XA3213 ; XA3216 ; XA3220 ; XA3226 ;
XA4013 ; XA4016 ; XA4020 ; XA4026 ;
XA5013 ; XA5016 ; XA5020 ; XA5026 ;
XA6513 ; XA6516 ; XA6520 ;

XA8016 ;

KTP65-40-200 ; KTP65-40-260
KTP65-50-200 ; KTP-65-50-260 ;
KTP-80-65-200

630527

XA4032 ;

XA5032 ;

XA6526 ; XA6532 ;

XAB8020 ; XA8026 ; XA8032 ;

XA10020 ; XA10026 ; XA10032 ;

XA12526 ;

630722 |KTP65-40-320 ;

KTP65-50-320 ;

KTP80-65-260 ; KTP80-65-320 ;

KTP100-80-200 ; KTP100-80-260 ; KTP100-80-320 ;
KTP125-100-200 ; KTP125-100-260 ; KTP125-100-320 ;
KTP150-125-200 ; KTP150-125-260 ;
KTP200-150-200 ;

XA8040 ;

XA10040 ;

XA12532 ; XA12540 ;

XA15032 ; XA15040 ;

630977 |KTP100-80-400 ;

KTP125-100-400 ;

KTP150-125-320 ; KTP150-125-400 ;

KTP200-150-260 ; KTP200-150-320 ; KTP200-150-400 ;

v
Y

£g]

4
»
-

Page 1 of 6 EARR ERiy PRI B P

b




o350e JUSAE. RS E AR
XA FuF{fIE FOfiEsE, SKF 2 Fls m pogipg s
Ao HEIEAOBRE | 6305-2Z ; 6307-2Z 5 6309-2Z

(Rt : 2Z BRI Bl

[
i&,’iﬁlj_ﬁ#ﬁ*ﬁ g1 R~ il R
6305-2Z $ 24 mm $ 24 mm
6307-2Z $ 32 mm $ 32 mm
6309-2Z $ 44 mm $ 43 mm

(F  GEPHT R

R
L R > R2ET R .
2 AfR A
3. T [EpfRIZAME -
A PRSI O SR —30C = + 110°CHRT -
5. fEIE (S » KVRRYEE By - 2 BRI > KLATE TR

Fisd > [P IpogR

Y

| £3

PRI Rl ¢

A
»
-

b

Page 2 of 6 ZARR L



0?00, JLENNE. % E7Q ‘Lﬁ“’})\; %’ fr’ 2L E!

®e® LVERCUSH:

R fFH T
Ol 1 FEER A L= (C/P) °
FHU Lo~ F A48 ER ) (10°8)
C—HA¥EMaRE (N)
P— SHEHERIEEE (N)
P=XFr+YFa
X — B [p] 1 R ()
Fr— 8B gife (N)
Y — BRI I R ()
Fa— ¥R IR (ND
& —Rf - T IRy (GRIE=3; R f{liE=10/3)
Bl S RS E Ll H
Lion= [(10%60n) (C/P) “] F¥ Lion= (10%60n) Ly
O Lion— B A R (H)
n— B (r/min)

Page 3 of 6 EARFERFF AP PR R



o33z TLs0NE PR H b
TYPE1: 6305-2Z
SEEp T 2 5% 5 EEF : n=3500RPM
C=22500N
Fr=476.6N
Fa=O0N
P=XFr+YFa=476.6N
Lion= [(10%60n) (C/P) °]
= [10% (60x3500)] [(22500/476.6) °])

=501032H

SREF: 455 EiEy: n=1750RPM
L= [(10%60Nn) (C/P) ]
= [10% (60x1750)) [(22500/476.6) *)

=102065H

Y

Page 4 of 6 EARRERRF AN PRI Rl ¢



0330 JUSNAE. PR B E AP E
TYPE2: 6307-2Z
SEEp T 2 5% 5 EEF : n=3500RPM
C=33200N
Fr=1139.6N
Fa=O0N
P=XFr+YFa=1139.6N
Lion= [(10%60n) (C/P) °]
= [10% (60x3500)] [(33200/1139.6) °]

=117743H

SRHF: 455 EiEy: n=1750RPM
L= [(10%60Nn) (C/P) ]
= [10% (60x1750)) [(33200/1139.6) °)

=235487H

Y

Page 5 of 6 EARRERRF AN PRI Rl ¢



o3iseuame PR R E G E
TYPE3: 6309-2Z
SEEp T 2 5% 5 EEF : n=3500RPM
C=52700N
Fr=2079.9N
Fa=O0N
P=XFr+YFa=2079.9N
Lion= [(10%60n) (C/P) °]
= [10% (60x3500)] [(52700/2079.9) )

=77461H

SREF: 455 EiEr: n=1750RPM
L= [(10%60Nn) (C/P) )
= [10% (60x1750)) [(52700/2079.9) *)

=154922H

Y

Page 6 of 6 EARRERRF AN PRI Rl ¢



